CSSD CHECKLIST EQUINS

EQUINOX HAND & FOOT SYSTEM 2021 orthopaedics
KIT ONE To Order: +61 422 867 755

Case Information:

Date:

Surgeon:

Patient ID / Booking No.:

TOP TRAY - INSTRUMENTS
. _—— : = W&%ﬂ\ ,, <
2 Periosteal Elevator

P B052060E 0 X —

Reduction Forceps With Poi—ce -

—4
o
5
2
<

i - 14 .icre'driver'
N A *
e~

Product Code
(Theatre Usage Supplier Code Number & Description Assembly Standard Qty  Case Usage
Code)
4362 30902500 1. Periosteal Elevator 1
4361 30902400 2. Reduction Forceps With Points 2
4400 31103000 3. Plate bender 2
4. 0.8Nm Torque Limiting Attachment (for 2.4mm
4386 S [2.7mm locking screw) y
5. 0.4Nm Torque Limiting Attachment (for 2mm
4405 31103600 locking screw) 1
4368 30905900 6. Hohmann Retractors 1
4462 31109400 Crab Claw Reduction Forceps (loose) 1

Equinox Medical Pty Ltd
Sydney Knowledge Hub Level 2 Merewether Building (HO4 The University of Sydney, Camperdown NSW 2006



CSSD CHECKLIST EQUINS

To Order: +61 422 867 755

BOTTOM TRAY - INSTRUMENTS

e } e — .

i § { - =
‘3 T\ Screwdriver Holder '} ' Cross screwdriver.rtS
L ®

(for 2.4mm /2. 7Tum logking sexew)l ;
11 ":_unmmz:-«r—_ L

— , b i
W ! Il -

I 4
\ 1
Screwdriver Holder 9 l |
..., !

WO.11049
WO11084

>

Product odé

(Theatre Usage | Supplier Code Number & Description Assembly Standard Qty Case Usage
Code)
4365 30902900 7. Screwdriver Handle with Quick Coupling 1
4401 31103400 8. Depth Gauge 25mm (Small) 4 PARTS 1
4417 31105105 9. T8 Stardrive Screwdriver 1
4418 31105106 10. T6 Stardrive Screwdriver 1
4439 31108000 11. Dressing Forceps 1
4379 31101303 12. 2.0mm Hex Screwdriver Shaft (2.4mm Cortex) 2
4378 31101302 13. 2.5mm Hex Screwdriver Shaft (2.7mm Cortex) 2
4486 31402000 14. Depth Gauge 40mm 4 PARTS 1
4364 30902700 15. Senn Miller Retract Hook (Cats Paws) 2
4462 31109400 Crab Claw Reduction Forceps (loose) 1
4578 34600600 Quick Connect Handle for Torque Limiter (loose) 1

Equinox Medical Pty Ltd
Sydney Knowledge Hub Level 2 Merewether Building (HO4 The University of Sydney, Camperdown NSW 2006



CSSD CHECKLIST

Barcode

0106912547082521

0106912547082

=

010691254708

=
——
—

4708

o o
2 2
=) o
> >
© ©
2 2
o N
o o

4708

—
=

4708

==
——

0106912547082590

47082606

——

47058519

—

0106912547058526

SSESSSEEES

=

0106912547058533

=
=

Supplier Code

EQUINSX

To Order: +61 422 867 755

Number & Description Standard Qty  Case Usage

08.301.11.6712008 1. Cortex screw 2.0x8mmTAV 4
08.301.11.6712009 1. Cortex screw 2.0x9mmTAV 4

| IH 08.301.11.6712010 1. Cortex screw 2.0x10mmTAV 4
WIH 08.301.11.6712011 1. Cortex screw 2.0x11mmTAV 4
08.301.11.6712012 1. Cortex screw 2.0x12mmTAV 4

“"“ 08.301.11.6712014 1. Cortex screw 2.0x14mmTAV 4
“"H 08.301.11.6712016 1. Cortex screw 2.0x16mmTAV 4
08.301.11.6712018 1. Cortex screw 2.0x18mmTAV 4
08.311.01.300182008 | 2. Self-tapping Locking screw 2.0x8mm TAV 4

WI““ 08.311.01.300182009 | 2. Self-tapping Locking screw 2.0x9mm TAV 4
]“““ 08.311.01.300182010 | 2. Self-tapping Locking screw 2.0x10mm TAV 4

Equinox Medical Pty Ltd

Sydney Knowledge Hub Level 2 Merewether Building (HO4 The University of Sydney, Camperdown NSW 2006



CSSD CHECKLIST

EQUIN®X

To Order: +61 422 867 755

‘ ‘I“l“ ]“mm I ‘“ “"H 08.311.01.300182011 | 2. Self-tapping Locking screw 2.0x11mm TAV 4
0106912547058540

‘ ‘I“l“ ]“W]ll '““ ‘ ‘n 08.311.01.300182012 | 2. Self-tapping Locking screw 2.0x12mm TAV 4
0106912547058557

‘ ‘Im“ ]“‘“w I “l““ 08.311.01.300182014 | 2. Self-tapping Locking screw 2.0x14mm TAV 4
0106912547058564

‘ ‘Im“ ]“‘“w '“ m w 08.311.01.300182016 | 2. Self-tapping Locking screw 2.0x16mm TAV 4
0106912547058571

‘ ‘l“l“ ]“I"]H “ H‘ IH 08.311.01.300182018 | 2. Self-tapping Locking screw 2.0x18mm TAV 4
0106912547058588

HI‘““ ]“I"w “m w 08.301.11.6712020 3. Cortex screw 2.0x20mmTAV 4
0106912547082613

‘ “m “ ]“mm ‘II"‘H 08.301.11.6712022 3. Cortex screw 2.0x22mmTAV 4
0106912547082620

‘ ‘Im“ ]“‘“m I"“““ 08.301.11.6712024 3. Cortex screw 2.0x24mmTAV 4
0106912547082637

| ‘I‘““ ]I““w "I" w 08.301.11.6712026 3. Cortex screw 2.0x26mmTAV 4
0106912547082644

‘ ‘I‘““ w “I‘ 'H 08.301.11.6712028 3. Cortex screw 2.0x28mmTAV 4
0106912547082651

‘HI‘““ I“H “‘ ‘ H “ ‘H 08.301.11.6712030 3. Cortex screw 2.0x30mmTAV 4
0106912547082668

‘ ‘I‘““ ]“‘“w 'HIWW‘ 08.311.01.300182020 | 3. Self-tapping Locking screw 2.0x20mm TAV 4
010691254705859!

‘ ‘I‘““ ]“‘"W“ “HI““ 08.311.01.300182022 | 3. Self-tapping Locking screw 2.0x22mm TAV 4
0106912547058601

| ‘Im“ ]I“"W“ “‘ H"“ 08.311.01.300182024 | 3. Self-tapping Locking screw 2.0x24mm TAV 4
0106912547058618

‘ ‘I‘““ ]“‘“W“ W"’W‘ 08.311.01.300182026 | 3. Self-tapping Locking screw 2.0x26mm TAV 4
0106912547058625

‘ ‘I“l“ ]“I“mm"“wm 08.311.01.300182028 | 3. Self-tapping Locking screw 2.0x28mm TAV 4
0106912547058632

‘ ‘I‘““ ]“‘“wmmm““ 08.311.01.300182030 | 3. Self-tapping Locking screw 2.0x30mm TAV 4
0106912547058649

Equinox Medical Pty Ltd
Sydney Knowledge Hub Level 2 Merewether Building (HO4 The University of Sydney, Camperdown NSW 2006



CSSD CHECKLIST EQUIN&X

To Order: +61 422 867 755

2.0mm MODULE - PLATES & INSTRUMENTS
FOQVOFPAIRIQW o »
Q0@ @8 e |
Q06 ° HQWQue s K

HVODI VERDEDE o 0 S

\
)

Barcode ‘ Supplier Code Number & Description Standard  Case

Qty Usage
08.311.01.100970805a | 4. 2.0 mm Mini Condylar Locking Compression Plate-2 5 Holes Ti 1
—""I"I I“m 08.311.01.100080804a | 5. 2.0 mm Locking Compression Plate 4 Holes Ti 1
—""I"I I“m 08.311.01.100080805a | 5. 2.0 mm Locking Compression Plate 5 Holes Ti 2
0106912
—""I"I 08.311.01.100080806a | 5. 2.0 mm Locking Compression Plate 6 Holes Ti 2
0106912
—""I"I 08.311.01.100080807a | 5. 2.0 mm Locking Compression Plate 7 Holes Ti 1
0106912
—""I"I I“m 08.311.01.100080808a | 5. 2.0 mm Locking Compression Plate 8 Holes Ti 1
01069125
—""I"I I“m 08.311.01.200035807 6. 2.0 mm Locking Reconstruction T-Plate (2 Hole) 7 Holes Ti 1
0106912
—“"I"I I“m 08.311.01.200025807 7. 2.0 mm Locking Reconstruction Y-Plate 7 Holes Ti 1
0
—lmmll I“m 08.311.01.200045803 8. 2.0 mm Locking Reconstruction T-Plate (3 Hole) 3 Holes Ti 1
0106912547056
Hllml 08.311.01.200045804 8. 2.0 mm Locking Reconstruction T-Plate (3 Hole) 4 Holes Ti 1
—lﬂ"ml 08.311.01.200045805 8. 2.0 mm Locking Reconstruction T-Plate (3 Hole) 5 Holes Ti 1
—lﬂ"ml 08.311.01.200045806 8. 2.0 mm Locking Reconstruction T-Plate (3 Hole) 6 Holes Ti 1
0106912547056850

Equinox Medical Pty Ltd
Sydney Knowledge Hub Level 2 Merewether Building (H04 The University of Sydney, Camperdown NSW
2006



CSSD CHECKLIST EQUINSX

To Order: +61 422 867 755

—""I"I ]“mm ” ‘”""“ 08.311.01.200045807 8. 2.0 mm Locking Reconstruction T-Plate (3 Hole) 7 Holes Ti 1
0106912547056867

—""I"I ]“mm ”mm 08.311.01.100970803¢c | 9. 2.0 mm Locking Condylar Plate 3 Holes Ti 1
0106912547110828

—""I"I ]“mm H“I"“ 08.311.01.100970804c | 9. 2.0 mm Locking Condylar Plate 4 Holes Ti 1
0106912547110835

—""I"I I“m || | ‘ ||| 08.311.01.100970805¢ | 9. 2.0 mm Locking Condylar Plate 5 Holes Ti 1
0106912547110842

—""I"I ]“mm “"m“ 08.311.01.100970806¢ | 9. 2.0 mm Locking Condylar Plate 6 Holes Ti 1
0106912547110859

30901200 10. Drill Guide 2.0-1.5mm 1

31104800 12. 1.5mm Hex Screwdriver Shaft (2mm Cortex) 2

31107600 13. T6 Stardrive Screwdriver Shaft 2

30900502 14. Screw Tap for Cortex 2.0mm 1

30900102 14. Countersink for 1.5/2.0mm screws 1

31104200 15. 2.0mm Plate Bender 2

31103501 16. 1.5mm Screw in Drill Guide for 2.0mm Locking Screws 4

Standard

Barcode Supplier Code DISPOSABLE INSTRUMENTS (SINGLE USE ONLY) Qty

30900800 11. 1.5mm Drill Bit 2

0106912547330015

Usage

Equinox Medical Pty Ltd
Sydney Knowledge Hub Level 2 Merewether Building (HO4 The University of Sydney, Camperdown NSW 2006



CSSD CHECKLIST EQUIN&X

To Order: +61 422 867 755

Barcode Supplier Code Number & Description Standard Qty Case Usage

08.301.11.6112410 1. Cortex screw 2.4x10mm TAV 4

| 0106939488399327
“W I"I”“ ]’“ ‘ IH 08.301.11.6112411 1. Cortex screw 2.4x11mm TAV 4

B 0106939488399334
“W I"I”“ m W 08.301.11.6112412 1. Cortex screw 2.4x12mm TAV 4

B 010693948839934 1
“W I"I”“ —Im IH 08.301.11.6112414 1. Cortex screw 2.4x14mm TAV 4

B 0106939488399365
“W I"I”“ —IH ‘ IH 08.301.11.6112416 1. Cortex screw 2.4x16mm TAV 4

| 0106939488399372

‘I ““ II N “l “ m 08.301.11.6112418 1. Cortex screw 2.4x18mm TAV 4

0106939488399389
‘I ‘“ I‘“ ‘ “‘” “ “ m 08.311.01.300182410 | 2. Self-tapping Locking screw 2.4x10mm TAV 4

| 0106912547002710
‘I ‘“ I‘“ ‘ “‘l “ m 08.311.01.300182411 | 2. Self-tapping Locking screw 2.4x11mm TAV 4

B 0106912547002727
“““ n ‘ IH 08.311.01.300182412 | 2. Self-tapping Locking screw 2.4x12mm TAV 4

B 0106912547002734
“““ 08.311.01.300182414 | 2. Self-tapping Locking screw 2.4x14mm TAV 4

0106912547002741

Equinox Medical Pty Ltd
Sydney Knowledge Hub Level 2 Merewether Building (HO4 The University of Sydney, Camperdown NSW 2006



CSSD CHECKLIST

EQUIN®X

To Order: +61 422 867 755

“‘"I ““ “ |‘ “ 08.311.01.300182416 | 2. Self-tapping Locking screw 2.4x16mm TAV 4
0106912547002758
‘I ““ “ “ ““ ” “‘ ‘“ 08.311.01.300182418 | 2. Self-tapping Locking screw 2.4x18mm TAV 4
0106912547002765
“W I"IIW “ IM“ 08.301.11.6112420 3. Cortex screw 2.4x20mm TAV 4
n 0106939488399396
“W I"IIW I“ ‘ ‘H 08.301.11.6112422 3. Cortex screw 2.4x22mm TAV 4
L 0106939488399402
“W I"IIN ““ ‘ ‘H 08.301.11.6112424 3. Cortex screw 2.4x24mm TAV 4
n 0106939488399419
“W I"IIN “ ‘ ‘ ‘H 08.301.11.6112426 3. Cortex screw 2.4x26mm TAV 4
L 0106939488399426
“W “ I"IIW I“ ‘H 08.301.11.6112428 3. Cortex screw 2.4x28mm TAV 4
n 0106939488399433
“W “ I"IIW " I w 08.301.11.6112430 3. Cortex screw 2.4x30mm TAV 4
0106939488399440
“““ ]“‘“““ H ‘H 08.311.01.300182420 | 3. Self-tapping Locking screw 2.4x20mm TAV 4
L 0106912547002772
“““ ]“‘“““ “'“ w 08.311.01.300182422 | 3. Self-tapping Locking screw 2.4x22mm TAV 4
n 0106912547002789
“““ ]“‘“““ “ ‘H 08.311.01.300182424 | 3. Self-tapping Locking screw 2.4x24mm TAV 4
L 0106912547002796
“““ ]“‘“““ “m ‘H 08.311.01.300182426 | 3. Self-tapping Locking screw 2.4x26mm TAV 4
| 0106912547002802 B
|I ““ ‘“ “ “‘ ‘“ ‘“ 08.311.01.300182428 | 3. Self-tapping Locking screw 2.4x28mm TAV 4
0106912547002819

Equinox Medical Pty Ltd

Sydney Knowledge Hub Level 2 Merewether Building (HO4 The University of Sydney, Camperdown NSW 2006



CSSD CHECKLIST EQUINSGX

To Order: +61 422 867 755

2.4mm MODULE - PLATES & INSTRUMENTS

-
ll

2.4 system

5
[
®
o

o

Standard | Case

Barcode Supplier Code Number & Description Qty Usage
08.311.01.200010804 4. 2.4 mm Locking Compression Plate 4 Holes Ti 1
0106912547053897
—""I"I I“mm | 08.311.01.200010805 4. 2.4 mm Locking Compression Plate 5 Holes Ti 1
010691254705390
—""I"I I“mm | mm 08.311.01.200010806 4. 2.4 mm Locking Compression Plate 6 Holes Ti 1
010691254705391
—“"I"I I“m 08.311.01.200010808 4. 2.4 mm Locking Compression Plate 8 Holes Ti 1
—“"I"I “m 08.311.01.200040806 5. 2.4 mm Reconstruction Locking Compression T-Plate (3 Hole) 6 Holes Ti 1
0 _
—“"l"l ]“m ”‘W l"“ 08.311.01.200020806 6. 2.4 mm Reconstruction Locking Compression Y-Plate 6 Holes Ti 1
0106912547054757
|’|I’|||| || ” ‘ll“l |‘| 08.311.01.200030806 7. 2.4 mm Reconstruction Locking Compression T-Plate (2 Hole) 6 Holes Ti 1
0 55594
—“"'"I m”'m"“ 08.311.01.100975803 8. 2.4mm Condylar Locking Compression Plate 3 Holes Ti 1
—“"'"I 08.311.01.100975804 8. 2.4mm Condylar Locking Compression Plate 4 Holes Ti 1
—“"I"I I "”"" 08.311.01.100975805 8. 2.4mm Condylar Locking Compression Plate 5 Holes Ti 1
—""I"I I“m I “" m 08.311.01.100975806 8. 2.4mm Condylar Locking Compression Plate 6 Holes Ti 1
—""I"I M"“ 08.311.01.100975807 8. 2.4mm Condylar Locking Compression Plate 7 Holes Ti 1
0106912547112129

Equinox Medical Pty Ltd
Sydney Knowledge Hub Level 2 Merewether Building (HO4 The University of Sydney, Camperdown NSW 2006



CSSD CHECKLIST

0106912

0106912

0106912

=

Ml

0106912547115113

54711

i

54711

EQUINGX

To Order: +61 422 867 755

S

08.311.01.200015802b

9. 2.4 mm Reconstruction Locking Compression Plate 2 Holes Ti

S

08.311.01.200015804b

9. 2.4 mm Reconstruction Locking Compression Plate 4 Holes Ti

S

=1
a
2

08.311.01.200015806b

9. 2.4 mm Reconstruction Locking Compression Plate 6 Holes Ti

5

08.311.01.200015808b

9. 2.4 mm Reconstruction Locking Compression Plate 8 Holes Ti

5090

08.311.01.200015810b

9. 2.4 mm Reconstruction Locking Compression Plate 10 Holes Ti

08.311.01.200015812b

9. 2.4 mm Reconstruction Locking Compression Plate 12 Holes Ti

0106912547330018

31101602

15. 1.8mm Drill Bit

30900102 10. Countersink for 1.5/2.0mm screws 1
31101502 11. 1.8mm Screw in Drill Guide (Green) 2
30902300 12. Drill Guide 2.4-1.8mm 1
31107500 13. 2.4/2.7mm Plate Bender 2
31105402 14. T8 Stardrive Screwdriver Shaft 2
30902200 15. Screw Tap for Cortex 2.4mm 1
Barcode Supplier Code DISPOSABLE INSTRUMENTS (SINGLE USE ONLY) Stagg/a’d Usage

Equinox Medical Pty Ltd
Sydney Knowledge Hub Level 2 Merewether Building (HO4 The University of Sydney, Camperdown NSW 2006



CSSD CHECKLIST EQUIN@X

To Order: +61 422 867 755

Case for 27 s

10

12

14
, G . i . - ; —
: " R ; R TIIIII,.
Barcode Supplier Code Number & Description Standard Qty Case Usage
08.301.11.6112708 1. Cortex screw 2.7x8mm TAV 8

01069394883914

—H"m“ I‘II ‘ 08.301.11.6112710 1. Cortex screw 2.7x10mm TAV 8
01069394883914

—H"m“ I‘ ‘ 08.301.11.6112712 1. Cortex screw 2.7x12mm TAV 8
01069394883914

—‘"IN“ I‘ m ‘ 08.301.11.6112714 1. Cortex screw 2.7x14mm TAV 8
010693948839

—‘HI[““ I‘IIN ‘ 08.301.11.6112716 1. Cortex screw 2.7x16mm TAV 8
0106939488391505

—H’I’““ I‘II"H"“ ‘ 08.301.11.6112718 1. Cortex screw 2.7x18mm TAV 4
0106939488391512

—H"m“ ]““I“" ”” “ “ ‘ 08.311.01.300182708 | 2. Self-tapping Locking screw 2.7x8mm TAV 8
0106912547002840

—H’I““’ W“““ "“I‘_l ‘ 08.311.01.300182710 | 2. Self-tapping Locking screw 2.7x10mm TAV 8
0106912547002857

—‘"I““’ ]“‘““““‘ ‘ 08.311.01.300182712 | 2. Self-tapping Locking screw 2.7x12mm TAV 8
0106912547002864

Equinox Medical Pty Ltd
Sydney Knowledge Hub Level 2 Merewether Building (HO4 The University of Sydney, Camperdown NSW 2006



CSSD CHECKLIST

EQUIN®X

To Order: +61 422 867 755

‘ ‘Im “ ]“I“]I““”H ” ‘ 08.311.01.300182714 | 2. Self-tapping Locking screw 2.7x14mm TAV 8
0106912547002871

“‘Im“ ]“‘““" “WH‘I ‘ 08.311.01.300182716 | 2. Self-tapping Locking screw 2.7x16mm TAV 8
0106912547002888

‘ ‘Im “ ]“‘“““ ‘ m H ‘ 08.311.01.300182718 | 2. Self-tapping Locking screw 2.7x18mm TAV 4
0106912547002895

wm I‘ N]I‘]I‘ ‘ 08.301.11.6112720 3. Cortex screw 2.7x20mm TAV 3
0106939488391529

—‘HIN“ I‘ “‘“ “ ‘ 08.301.11.6112722 3. Cortex screw 2.7x22mm TAV 3
0106939488391536

—“’Im“ I‘ "HI “ I ‘ 08.301.11.6112724 3. Cortex screw 2.7x24mm TAV 3
0106939488391543

—H"’Im I‘ “HI ““ | 08.301.11.6112726 3. Cortex screw 2.7x26mm TAV 3
0106939488391550

—“-“N“ I‘ “‘“ —“ “ ‘ 08.301.11.6112728 3. Cortex screw 2.7x28mm TAV 3
0106939488391567

—‘HIN“ I‘IIN“ ”HI ‘ 08.301.11.6112730 3. Cortex screw 2.7x30mm TAV 3
0106939488391574

—""“w ]“‘“““ ‘ NH ‘ 08.311.01.300182720 | 4. Self-tapping Locking screw 2.7x20mm TAV 3
0106912547002901

—|"|“"’ ““ ‘ ”Il ]“ 08.311.01.300182722 | 4. Self-tapping Locking screw 2.7x22mm TAV 3
0106912547002918

“‘Im“ ]“‘“W ‘ Hml ‘ 08.311.01.300182724 | 4. Self-tapping Locking screw 2.7x24mm TAV 3
0106912547002925

“‘Im“ In“ ‘ 08.311.01.300182726 | 4. Self-tapping Locking screw 2.7x26mm TAV 3
0106912547002932

“ ‘Im “ ‘I “ ““ | || ““ ‘ 08.311.01.300182728 | 4. Self-tapping Locking screw 2.7x28mm TAV 3
0106912547002949

Equinox Medical Pty Ltd
Sydney Knowledge Hub Level 2 Merewether Building (HO4 The University of Sydney, Camperdown NSW 2006



CSSD CHECKLIST

2.7mm MODULE - PLATES & INSTRUMENTS

Barcode

0106912547052623

EQUIN®X

orthopaedics

To Order: +61 422 867 755

0106912547052630

—
—
= —

=

a
=
>
©
>
£
3
=
&
w
2
=)

.‘
=)
>
=4
>
£
bl
=
G

.‘
=)
>
=4
g
bl
=
3
aQ

.‘
=)
=3
=4
g
bt
=
)
a

.‘
=)
=
@
g
3
=
&
=

.‘
=)
>
=4
g
bl
=
3

=

.‘
=)
>
=4
g
bl
=
3

=
—

0106912547052210

(WA

0106912547114192

Supplier Code Number & Description Stagg/ard l?:‘;
08.311.01.100969803 | 5. 2.7 mm Locking Compression L-Plate, Oblique 3 Holes/Left Ti 1
08.311.01.100969804 | 5. 2.7 mm Locking Compression L-Plate, Oblique 4 Holes/Left Ti 1
08.311.01.100968803 | 6. 2.7 mm Locking Compression L-Plate, Oblique 3 Holes/Right Ti 1
08.311.01.100968804 | 6. 2.7 mm Locking Compression L-Plate, Oblique 4 Holes/Right Ti 1
08.311.01.100961803 | 7. 2.7 mm Locking Compression L-Plate 3 Holes/Left Ti 1
08.311.01.100961804 | 7. 2.7 mm Locking Compression L-Plate 4 Holes/Left Ti 1
08.311.01.100962803 | 8. 2.7 mm Locking Compression L-Plate 3 Holes/Right Ti 1
08.311.01.100962804 | 8. 2.7 mm Locking Compression L-Plate 4 Holes/Right Ti 1
08.311.01.100965803 | 9. 2.7 mm Locking Compression T-Plate 3 Holes Ti 1
08.311.01.100965804 | 9. 2.7 mm Locking Compression T-Plate 4 Holes Ti 1
08.311.01.100080804 | 10. 2.7 mm Locking Compression Plate 4 Holes Ti 1

Equinox Medical Pty Ltd

Sydney Knowledge Hub Level 2 Merewether Building (HO4 The University of Sydney, Camperdown NSW 2006



CSSD CHECKLIST

EQUINGX

To Order: +61 422 867 755

=

0106912547114208

08.311.01.100080805

10. 2.7 mm Locking Compression Plate 5 Holes Ti

0106912

4215

08.311.01.100080806

10. 2.7 mm Locking Compression Plate 6 Holes Ti

=
=

0106912547114222

08.311.01.100080807

10. 2.7 mm Locking Compression Plate 7 Holes Ti

=E=E==

Ml

0106912547114239

=

08.311.01.100080808

10. 2.7 mm Locking Compression Plate 8 Holes Ti

Barcode

0106912547330020

30900200 11. Countersink for 2.7mm screws 1
31101501 12. 2.0mm Screw in Drill Guide (Yellow) 2
30901300 13. Drill Guide 2.7-2.0mm 1
31107500 14. 2.4/2.7mm Plate Bender 2
31105402 15. T8 Stardrive Screwdriver Shaft 1
30900600 16. Screw Tap for Cortex 2.7mm 1

Supplier Code

31101601

DISPOSABLE INSTRUMENTS (SINGLE USE ONLY)

16. 2.0mm Drill Bit

Standard
Qty

Case
Usage

Equinox Medical Pty Ltd

Sydney Knowledge Hub Level 2 Merewether Building (H04 The University of Sydney, Camperdown NSW

2006






